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(%)2 =12 % = 2,/3 = 3.46
5.96 V = (120 +40 mm)(54 mm)(18 mm) = 155,520 mm?
r = %(120 +40 mm) = 80 mm
V= %(120 mm)(60-18 mm)(54 mm) = 136,080 mm°
z = %(120 mm) = 40 mm
V= %w (27 mm)? (18 mm) = 20,612 mm®
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= (160 mm) + %(27 mm) = 171.46 mm

V= -7 (16 mm)® (18 mm) = -14,476 mm®

z = 160 mm
>V = 155,520 +136,080 + 20,612 - 14,476 (mm?®)
= 297,736 mm®

>(z V) = (80)(155,520) + (40)(136,080) + (171.46)(20,612) + (160)(-14,476) (mm*)
= 19,102,774 mm*
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¥ - X(zV) _ 19,102,774mr;1 — 64.2 mm
XV 297,736 mm




5100 A= %(90 mm)(60 mm) = 2,700 mm?

r = %(90 mm) = 30 mm

y = (120 mm) + %(60 mm) = 140 mm
2 =0

A = (90 mm)](200 mm) = 18,000 mm?
x = 45 mm

y = %(120 mm) = 60 mm

z = %(160 mm) = 80 mm

A = —(45 mm)(100 mm) = -4,500 mm?
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= %(45 mm) = 22.5 mm

y = %(60 mm) = 30 mm

z = (160 mm) - %(80 mm) = 120 mm
A= %[7(45 mm)?] = 3,181 mm?

r = 45 mm

y =0

Z = (160 mm) +%(45 mm) = 179.1 mm

SA = 2,700 + 18,000 + (-4,500) + 3,181 = 19,381 mm?’

S(zA) = (30)(2,700) + (45)(18,000) + (22.5)(-4,500) +(45)(3,181)
= 932,895 mm®

>(yA) = (140)(2,700) + (60)(18,000) + (30)(-4,500) +(0)(3,181)
= 1,323,000 mm?®

S(zA4) = (0)(2,700) + (80)(18,000) + (120)(-4,500) +(179.1)(3,181)

= 1,469,717 mm?®

Y(zA) 932,895 mm”

X = = = 48.1 mm
XA 19,381 mm?*

— _ X(yA) 1,323,000 mm*

Y = = = 68.3 mm
XA 19,381 mm?
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7 = Y (zA4) _ 1,469,717 mm - 75.8 mm

XA 19,381 mm?



